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What is the median of the given data?
2,3,2,3,6,5, 4,7

fau ITE Se1 Bt AfeaahT a1 672
2,3, 2,3,6,5,4,7




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A sum becomes five times of itself in 8 years at simple interest. What is the
rate of interest per annum?

Udh 13T JTYRUT TS UR 8 I8 H Ga &I Gid A1 5l Sirdl ¢ | Ufd a8 161 & 1
8?

37.5%

25%

62.5%

50%
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The length, breadth, and height of a solid cuboid is 20 cm, 16 cm, and 12 cm
respectively. If cuboid is melted to form identical cubes of side 4 cm, then

what will be the number of identical cubes?

U 319 U914 Bl ddlg, dIsTs 3R Sdls BHRE: 20 THI, 16 JHT 3R 12 I 5|

gic; g-TH Pl 4 JTHIT YTl & G-I U] DI §-1- o [eld [UYar Sirdr g, df
3{TERI G-l B TReAT T gR1T? -
72
90

60
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Mohit and Sumit start a business with investment of X 74000 and X 96000
respectively. If at the end of the year they earn profit in the ratio of 5 : 8, then
what will be ratio of the time period for which they invest their money?

Aifed 3R JHAd HHRT: 74000 IUY 3R 96000 IYY & (AR & 1Y U HGH[E
= D ol Ale aY & fd H d 5: 8 & 3UId H A HAI g, dl 39 JHY

3{qfe] T YT T SR TP Q1T 9 319 U BT (Ha% B 672

37 : 32

13:18

25 : 32

30 : 37
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The value of the discount of 18% on the first article is equal to the value of
the discount of 13% on the second article. What is the ratio of the marked

price of two articles?

ggdil 9% UR 18% @1 B¢ I HM G-l 9% UR 13% DI B¢ b A b aRI6R ¢
GIFl 9ed3i & 3ifdbd Hed BT 3Urd F1 52

17 - 24

39:50

13:18

13:19
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F alone can complete a work in 24 days and G alone can complete the same
work in 32 days. F and G start the work together but G leaves the work 8
days before the completion of work. In how many days the total work will be
completed?

F i 24 fa1 H U o1 g1 3 Fahdl 8 SR G 3l 331 d1d &l 32 feA1 H
ORT B hdl ¢ | F 3R G U 1Y B Y= HRd © -1 G S GRI I I 8
-1 ggd ®1 &l BIS adl o | Dd & fod -l T U1 gR1?

130/5 days
106/7 days

114/7 days

120/7 days
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Working 2 hours in a day, P can complete a work in 10 days and working 5
hours in a day, Q can complete the same work in 6 days. Working 3 hours in
a day, in how many days both P and Q together can complete the same
wWork?

U [ 1 2 9¢ B db, P 10 feAl T U DRI G HR bl § SR U [ad |
5 H¢ DI HIh, Q I B DI 6 & T RT PR hdl o | U fo H 3 °9¢ DY
®HRD, P 3R Q Tl TP A1y JHHE DI fbd- Gl T 91 HR Jobd 672

3 days
6 days

4 days

5 days
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Mohit purchases eggs at the rate of X 3 per egg and sells them at the rate of
] 5 per egg. On selling 35 eggs, what will be the profit percentage?

Hifgd 3 TUU U 378 Pl & I 3is Wiledl g 3R 3o 5 49U Ufd 38 dl X I
S9dl g1 35 3 &9+ UR, d1H Ufd=rd a1 R

33.33%

40%

60%

66.66%
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Varun purchases 75 articles for 3150 and sells them at a profit equal to the
cost price of 15 articles. What will be the selling price of one article?

doU1 3150 ¥ YU H 75 U WRIcdl § 3R 3¢ 15 d¥d3il df dNTd e & aRIeR
AT IR §9dl g | U 9% DI [dehd Hed 1 GIRTI?

42

51.5

50.4

46.5
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The average age of students is A and the average age of teachers is B. The
number of students is 45 times the number of teachers. What is the average
age of students and teachers together?

SHEl ®I 3T 3T A g 3R [RU&fD[ DI T 3R B © 1 DHEI DI GAT [RU&D[ bl
AT Y 45 T ¢ | U 1Y SH| 3R &Pl DI S d 1Y w1 52

(45A + 8B)/7
(45A + B)/46
(45A + B)/8

(45A + 4B)/23
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A student got 24% marks in an exam and he failed by 56 marks. If he got
60% marks, then his marks are 70 more than the minimum passing marks.
What is the maximum marks for the exam?

Udh BT DI Uh URIET H 24% 3ih [Hdl 3R 98 56 3P| I xivl gl ™71 gfe
3 60% 3P [Tl g, dl 3D 3{d AdH 30 3P| J 70 3HeD 5 | URI&T &b
foru sfferpdyn 3i® a1 g2

350

260

380

280
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Raju travels at half of his usual speed and reaches his office 24 minutes late
than his usual time. If Raju travels at his usual speed, then what will be the

time taken by him to reach his office?

TS 3O FTHT i o STE T T AE1 HRdl § 3R 3U- ArE- 9393y I 24
e &3 9 31U+ HrAaiad dgddl o | Al TS =1 SrH1= I A AE1 HRdl ©, d
IHD BT db Ugd- § 3™ gIRT -1 7171 JHT a7 817

64 minutes

24 minutes

48 minutes

56 minutes
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Two solutions of acid and water containing acid and water in the ratio 2 : 7
and 4 : 5, respectively are mixed in the ratio 2 : 5. What is the ratio of acid
and water in the resulting solution?

I 3HIR UTHT b &l (501 {[STH ShHR: 3 3HIR 91 &bl HGYd 2 : 7 3R 4 : 5 ©,

P12 : 5 b Urd H (H%d A1 Sirar © | 9iRomHET {37201 § 3 3R 911 &bl
3T T 87

8:13
3:7
8:17
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Two pipes A and B can fill a tank in 12 minutes and 15 minutes, respectively.
When an outlet pipe C is also opened, then the three pipes together can fill
the tank in 10 minutes. In how many minutes can C alone empty the full

tank?

GIUIST A3MR B HAR: 12 e R 15 e H uh ¢ R AP d o | old UdH
Mol argy ¢ Ht @id (&1 ST o, dl di-i Ursyd Uch 1Y ¢ Dbl 10 39 H HWR
Tohd o1 C 3fdd fhad fire H g1 & arell HR Gbdl g2

18

20

16

24
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If the radius of a sphere is decreased by 25%, then the percentage decrease

IN its surface area is:
g O a1 391 25% b A1 81 Sl &, dl s Uy &aa%d H
fopa-T ufa=ra & == dT sidl o

42

43.75

37.50

40
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Working together, A, B and C can complete a work in 36 days. If the
efficiency of A, B and C are in the ratio 5 : 6 : 9, then B alone will complete

the same work in:

Uch 1Y BT DI IR, A, B 3R C, 36 &1 T T H1H G R Fahdl ¢ | dlc A, B
3R C P C&dI5:6:9 P 3JUid H g, dl B el Il DI Dl Y[ DT

120 days
100 days
60 days

90 days




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

[f sin (0 + 18°) = cos 60°
(0O < 6 < 90°), then the value of
cos H0 is

1
3 2) 0

1
(3) 5 4) 1
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If g is a positive acute angle and
4 cos’9 —-4cos § +1=0, then
the value of tan (9 — 15°) is equal
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If cos?a + cos*p = 2, then the val-
ue of tan® o + sin® B is :

(1) -1 (2) O

1
(3) 1 (4) ﬁ
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A shopkeeper allows a discount of 4% and also
gives | article free with every 15 articles and still
gets a profit of 35%.then find mark up %?

Uh GHECR 4% & T & TT T TA6 15
TEG3 T WA W 1 aq AFd o 2 1A 37

olmeT 35% o ifehd Hed AT W
a)40% b)50% ¢)60% d)55.55%
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A and B can complete a piece of work in 8 days,Band Ccandoitin 12 days. Cand Acandoitin 8 days. A,Band C
together can complete it in

A 3R B 8 forfi 1 U 1 R % el 5, B 3R C S PIH @1 12 fedi B a bl 51 C AR AZH 8 feI T IR B g1 A, B3R C
[T 24 1 % e

4 days

5 days

6 days

7 days
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The difference between the selling prices of an article at a profit of 15% and at a profit of 10% is Rs 10. The cost price of the
article s

159% 6 T 1R 10% 6 14 O U6 7 o 10 e 8 o 10 %0, 1 378 2 1 17 A 10 &

A.100
B.120
C.150
D.200
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A solid metallic spherical ball of diameter 6 cm is melted and recast into a cone with diameter of the base as 12 cm. The
height of the cone is how much?

b Q) o] 1 U 31 e 11 &1 ! fUerATas 1. Gl il & SR e a1 GBI T Tl  foreie SfTeR b1 oo 12 8l
o1 9% @I s aat

A.2 cm
B.3cm
C.4cm
D.6cm




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The average of 41 consecutive odd numbers is 59. Find the second largest number?

A1 HiHD [qH FA13f &1 3{4d 59 B | GER! Jad To! Hl J1d B2

87
96
95
97

oo wp»
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A can complete a piece of work in 12 days. B is 60% more efficient than A. The number of days. That B will take to complete
the same work, is

A T BT 1 12 e H QIR W 51 A 1 T B 60% e T | 3 6 1 QT e B et e o

7.5

oo w®»

8.5
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5 years aqo the average age of a family, which includes father, mother, and a son, was 35 years. If the average age of father
and mother, 3 years ago, was 46 years. What is the present age (in years) of the son?

5 7% 3 T NG, or T, T 0 O W &, 7 Tt 7 35 4 ot g 3 ) et Ucr 9 ot g dp v e
T T o ) o

A.20
B.24
C.26
D.22
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The area of rectangle is 1680 cm? and the length of the diagonal is 58 cm. Find the perimeter of the rectangle.

3Tl 1 e 1680 YHIZ B 3R fad Ul 3! TR 58 T o] SMITA &1 GRS T 1Y J1d DIy

A.164 cm
B.178 cm
C.234 cm
D.152 cm
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It a sum of money becomes Rs. 4000 in 2 years and Rs. 5500 in 4 years six months at the same rate of simple interest per
annum. then the rate of simple interest Is

01, 1T e 0t o U ) () G R 2 9 4000 8 3R 4 Y 6 1 H 5500 0§19l & ol eV o
RIADO

A.21 3/7%
B.21 1/7%
C.21 5/7%
D.21 2/7%
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Of three numbers, the second i thrice the first and the third number is three-fourth of the first. If the average of the three
numbers is 114, the largest number is

i SR 9, ] S, e ST i T e ], el S o el | g i e a1 i
1143, T T 05 S o H g7

72

216
354
726

o0 w»
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The ratio of incomes of husband and wife is 4.3 and the ratio of their expenditure is 2:3. If they save Rs. 26000 and Rs.
18000 respectively, then what is the income of wife?

T Ui 3R el 1 37 T ST 4:3 3R 3Tdh o0 T 31 2:3 51 Tie d A 26000 T 3R 18000 39U &=t B, Tl
CIR N EIRERY

36000
40000
21000
28000

o0 w»
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Two trains, A and B start from stations X and Y towards Y and X respectively. After passing each other, they take 4 hours 48

minutes and 3 hour 20 minutes to reach Y and X respectively. If train A is moving at 45 km/hr, then the speed of the train B
S

QXTI A SR B & SCTH X SR Y YA Y 3R X Bl SR e HRR el 6 T GOk D1 IR el o 471G d ¥ Y 3R X T
Ug H AT 4 TUC 48 fHFTC 31X 3 T0¢ 20 e T §HT old &1 1S X0 A 45 [H! i U0 1 =1 & 901 el 51 dl X1 B Bl J1

T

A.60
B.80
C.65
D.54
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What is the fourth proportional to 136, 17, 2967
136, 17, 296 T IqIUTcil JTd D |

37

33
46

o0 w»
(@)
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The average English marks of two sections A and B of class XI in the annual examination is 85. The average marks of
section A are 89.5 and that of section B is 83. The ratio of the number of students of section Aand B is -

Qﬁiﬂﬁmﬁ&ﬂﬁaﬁ&ﬂwaﬁwmﬁm?ﬁﬁﬂamﬁaﬂwaiaﬂﬂasm@.taﬁwwwaﬂw
31 83 5| SFTMIT A 3R B 3 BT 1 S 1 ST T G

4:9
7:9
3:7
6:7

oo ®p
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The value c:fJ:i[l +/304++/304+ .. oiin.n, oo s

J304+4/304/30+ . o  BTHAIC R

o0 w»
I e A
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A Fast Passenger train 120 m long passes a man, running at 6 kmph in the direction opposite to that of the train, in 9
seconds. The speed of the train is-

120 TR il W Tt el KT el o e 1 RO O o € o 50 0 e 1 9 Wb A AR i g
LTS 1 T T 7

42
66
54
72

oo ®p
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Three successive discounts on the marked price of an article tums out to be equivalent to a single discount of 46%. If the
rates of the first and second discount are 28% and 7% respectively. What is the rate of the 3rd discount?

T %] 3 il T TR i Spivp 5, Ut e 46% o SRR 1 41 Tl iR 81 e 1 X 0 26% R 7% B e
B R

A.19.3%
B.20%
C.20.5%
D.21%
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In a family of Father, daughter and son, age of father is twice the average age of whole family. Daughter's age Is half the
average age of the family. If son is 10 years old, what is the average age of the family?

Tt i 31 O o5 U UNGR ¥ Ut 1 31 QX URaR 1 311 o1 t QT 1 il ot 7 UG ot of1el g 1 3l g
Ui A1 371 10 TN ], ol INAR 31 31 g T 2

A.10 years
B. 20 years
C. 30 years
D.25 years
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Three pipes A, Band C can fill a tank in 8, 12 and 24 hrs respectively. B and A are opened for 45 minutes, then C is also
opened. The time taken by pipes to fill the tank is:

G 010 A, B 3R C TS 8,12 31 24 ¢ H W b 1 R el 1 B SR A DI 45 e o ferw ien i g, U o1 <ft e
T 6| 38 < 1 4R B ] 5 g fordl T S T i A.17/4 hr

B.33/8 hr
C.4 hr
D.9/2 hr
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If cot® = 5x and (o4 e = 2 ), (x#0) then the value of 5 (> _ 1 ,is:
X X
A2
B.1/5
C.-1/5

D.-1/4
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In 144 litres pure milk, 16 liters of milk is replaced by water and if this process is
repeated two more times, then find the quantity of milk in the final mixture.

144 WIeR T QY H, 16 Wl g8 DI ! I YIARIIMUT B (¢d1 Silal © 3R dfc 39
Uichd B &l IR 3R gl SIIdl g, dl SifdH 580 § g8 @&l A& 1d S|

101

101.13

205.03

113.7
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If the radius of the base of a right circular cylinder is increased by 20% and the

height is decreased by 30%, then what is the percentage increase/decrease in
the volume?

qfc, Ush ot guiid o & TR DI AT H 20% DI 9l @I Sildl g 3R 3Hdls |
30% DI HH! DI Sl o, dl A H WA= dla/mHl H1 52

8%

10%

15%

0.8%
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Chair when sold at 20% discount makes seller earns profit of 30%. If chair is
sold at 10% discount, what will be the new profit percent?

Udh B4l Pl old 20% ¢ UR &1 STl @, <l [ddhdl 30% BT Y 3Afold Hdl gl af
HAUl 10% §e GR 941 Srdl g, ) 741 a1y ufa=rd o1 gim?

50%

25.97%

46.25%

56.5%
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Grams costing Rs. 25 per kg is mixed with another type of grams costing Rs. 35
per kg. In what ratio should the two types of Grams be mixed so that 15% profit
is earned with the selling price of mixture being Rs. 30 per kg.

25 302 Ufd {H A &I drTd did - Bl 8RR YhR & 9 & qr {7igd fbdr S
g, IS gl ArTd 35 ¥ Ufd fhalud g1 alFl UbR & 941 Dl [ 3urd H el
d1ie T, fob [F%01 o1 f[dehd Y 30 394 Uid fh i g4 R 15% ol a1 Hfoid gl

23:3

41:5

43 : 7

31:9
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Twenty five workers were employed to complete a wall in 12 days. Five workers
left the work after working of 5 days. By what percent of each of remaining 20
workers should increase their efficiencies to complete the work in given time?

U AR Bl 12 {1 H U1 3 & forg v 4feyepl ol avmar wa o 5 {1 o
B b d1G Ui Holgr DRI DI od g | 4T T g9 H DRI GRT HA & (el [N 20
YD T U P U] & H o Ufd=rd & ala HRAT a1gu?

20 percent
30 percent

25 percent

18 percent
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Rohit borrowed Rs. 18000 from Rashmi for 2 years at simple interest of rate
15%. Ronhit lent this sum to Raunak at the same rate for the same time but at

compound interest. Find the profit earned by Rohit in this transaction.

Jfed = I I JreRu Ao TR 2 98 & folU 15% o 23 I 18000 $UU IYR o]

=

Afed = T8 AR AP DI FHH &R IR JHH JHY & (0T b1 Iohdls STl UR
YR (&A1l 39 d4-a-1 | ATed gRI Sifod A4 31d iford |

Rs. 400

Rs. 405

Rs. 410

Rs. 415
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If the diameter of a circle increases by 15%, then what will be the percentage
iIncrease in its area?

i U 9o & o H 15% DI G ol 6, o 39D &Fhd H Uld=Id Il 71 g2

35.755%

30.3%

25%

32.25%




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Mohit goes to his office at the speed of 10 m/s and returns to his home at the
speed of x km/hr. If the average speed of Mohit for the whole journey is 12 m/s,

then what is the value of x?

Aifgd 10 HieyAd s B 1fd I 394 HEay Sdl © 3R x fhdiee ot afd 9 3=
eR diedl o | afd O3t a1 & aRME Hifgd I S d Tfd 12 Hie/™a s g, dl x &1 J1H
87

25 km/hr

15 km/hr

36 km/hr

54 km/hr




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

IfA:B=7:8andB:C=7:9, thenwhatistheratioof A:B:C ?
qfdA:B=7:83RB:C=7:9 dlA:B:C &I 3qUld &I g?

56 :49 :72

49 : 56 : 72

56 : 72 :49

72 :56:49




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A alone can complete a work in 14 days and B alone can complete the same
work in 21 days. A and B start the work together but A leaves the work after 4
days of the starting of work. In how many days B will complete the remaining
work?

A 3 Ub B Dl 14 [& T U DR Fobdl g SR B 3fbel 39 dI @l 21 faa d
ORT R Jhdl 6 | A 3R B [HADR B BRAT Y DR © didd AP IF - & 4
[¢H 916 I BISHR Il Sl g | B 3fdhdl Y HI Bl fbd- G H U1 HAM?

O days
16 days
12 days

11 days




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The marked price of a chair and a table are in the ratio 2 : 3 respectively. The

shopkeeper gives a 20% discount on the chair. If the combined discount on both

the chair and the table is 26%, then what will be the discount given on the

table?

U Hl 3R U oqd DI 3ifchd eI HHA: 2 : 3 F Ul H & | SHHCR Hal 1R

20% P Fe odl g | afc Pl R A Sl IR Fgad J¢ 26% @, dl Hol W &l T3 3¢
[?

T gl

34%

32%

30%

28%



mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

In a Company, the number of engineers doubles itself every 2 years. In how
much time will the number of engineers become 1024 times of its original

number?
Uh hU-il H, SOlll-TRI &I I Udd 2 94 H GRIHI 81 Sl g | fba 999 |
SOIlAR] I THT 91 T T DI 1024 THI gl SIT?

12 years
20 years
15 years

24 years




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

If the side of a square increases by 20%, then what will be a percent increase in
its perimeter?

gfc; Uh a1 &l Yoll T 20% &l df gidl 8, dl I ulRA™ § fbd- ufdwrd & afs
BIeil?

44%

20%

80%

40%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Marked price of an article is 60% more than its cost price. If the article is sold at
a profit of 20%, then what will be the discount percentage?

Uh qq &1 Sifdbd Hed 3D ANTd Hed A 60% 3D g | gl 9% DI 20% 1Y TR
ST 71, Al ¢ Ufd=id 1 g

37.5%

17.5%

15%

25%




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

After giving a discount of 25%, a shopkeeper earns 40% profit. Marked price is
what percent more than the cost price? (approx.)

25% P V< o & dIa, U ghIHaR 40% A HHIC ¢ | ifbd e drld e I
[a gfc=rd sif¥e g2 (@TH)

80%

735%

86.67%

95%




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Ramesh purchases 75 articles for 10800 and sells them at a loss equal to the
selling price of 5 articles. What will be the selling price of one article?

U 75 9V 10800 ¥UU H WRIGdl & 3R 3 5 a&jefl & fdhd Hed o aRIaR @
g1¢ R §9d1 5 | Ub qq DI fdshd e o1 GRTI?

Rs. 156

Rs. 135

Rs. 144

Rs. 132




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The average of 8 numbers is 44. If a constant "Y' is added to each number, then
average becomes 47. What is the value of "Y'?

8 AT BT 3T 44 5| TiG UD [RR AR Y’ I YD I3 H SIST Sl @, dl
A 47 81 SIdT o | ‘Y’ &I A &1 572

217

24




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The average of six numbers is 75. The average of first five numbers is 64. The
average of last five numbers is 80. Find the difference between first and last
number.

S6 W13 BT 3Md 75 © | Ugdl Uid SBT3l &1 3id 64 © | 3ifaw Ui dwearaif
T 3d 80 © 1 Ugall 3R 3ifdT T & a9 3aR J1d D]

65

50

97

80




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

At what rate percent per annum a sum becomes twice of itself in 4 years at
simple interest?

Y oy oy

[ ATt ax Ufd=rd UR Udh MR FIELRU AT WR 4 9N H 394 &I GFIHT g1 Sl

g7

50%

25%

15%

10%




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

How many 3-digit numbers are exactly divisible by 67

3 3Dy fdd-l TATU 6 Y YUl =Y I fdUrY 572

140

150

160

170




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

When a number is increased by 21, it becomes 114% of itself. What is the
number?

STe U AT H 21 SIST AT, Al 39T HIH 3O 114% Bl Sl o] g S8l A1 g ?

150
252
315

189




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

In a mixture of 45 litres, the ratio of milk and water is 3 ;: 2. How much water

must be added to make the ratio 9 : 107

45 ey &

CREIRCIE]

[Pryor §, g8 31k gl T 31urd 3 : 2 51 3Urd 9 : 10 &1

ST ST

Y

10 It.

17 1t

15 It.

12 1t.
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